DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH REMAINDER Rame:
Time: Score: y—
50) 4133 =9 = 316) 20395 = 5 =
5020 20471 = 7 = 317 63894 + 9 =
303 941 — 1 = 318) 54057 = 6 =
301 18027 =+ 3 = 319 8037 + 3 =
305 38051 = 4 = 3200 2110 = 10 =
306) 52768 = 8 = 20 5194+ 1=
007 73411 = 8 = 322 2568 + 9 =
308) 39876 + 8 = 23 3138 +7 =
309 21674 = 6 = 324) 15573 + 3 =
3100 64330 + 8 = 325) 36236 + 6 =
31y 17056 + 2 = 200 2102 +3 =
3120 1318 + 10 = 27 63826 + 10 =
313) 8HH3 + 2 = 28 10103 +5 =
31) 9681 = 1 = 320) 12335 =8 =
315 34761 = 8 = 30 4272 +5 =
Mathematics: Division - Level 7 - Horizontal - Set 3 12 culu
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